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Args
Numbers

↓
- O· Ifoo - P - 2 args

-

intary <

cha * argu(]

-



echo repeat -r <count) <str)

echo repeat - ~10 Foo

echo repeat Foo - -5

-

Numbers binary

↓
245 "245" 17

7

quantity String
intS machine

by te 64 + z

-z 12'5

ascii

4
binary



Decimal (Jase 10)
base

245

↓
pos ↓

2x(104 + 4x410) + 5x(102)

2x100
+ 4 x 10 + 5 x I

200 + 40 + 5
= 245

Binary (base 2)

3 10 Dez int + = 3 ;
06 1101 - 13 int x = 0611 ;

in +

x = 0x 3;

3
2

+
0x2'

+ xx20IX 2 t 1 I

8 t 4 + o
+ 1

= 13

84 2 I

06 1107 & 4 bis binary value
↑ A

most least

significant significant
bit bit



n - bit binary number Dec 26 it

0 00

zu possible values
h · J2 10

-> 3 1

0 to 2"-1

Dec Bin
Hexadecimal (base(d) 0 000

I 00 I

Dec(10) Bin (2) Hex(16)
2 01 0

O 3 01 1

000o

· 08 i
4 100

00 11
o 1 00 5 10 I

2010

Lo 101

01 10 6 110
01 1 I④ 100 o ↳ -> 7

!
100 I 11 I

17 10 1 I

12 1100

10 I

i 11 :O
E

11 1 F

Of 1AF I

1 x 16
2

+ A x 16' + F x is
- -

-

1 x 16 + 10 x 10 + 15 x 160



256 + 160 +15 = 43)

Ox 1 AF

a
02 0001 1010 111 I

projector

numstr -> int -> numstr

Gase)

1245"
ASCIE

charxs= "245" ; 10 1
= 48
-I = 44

S 201
= '2' 2. =

50

5513 = "4' -

S[23 = 15:

int + = sC03 ; printf(" % dan" , X) ;
~

X
=

S(0] - 48 ;

x = SC0] - '01
S

-



int num ;

hom = (SCO) --0') * 100

+ (SC17 - '0') * 10

+ (SC2] - 10') * 1

245"
num = 245 ↑
-

int intstr -
to-int(chares) I

int num = 0 ;
-

int digit ;
int i =

0 ;

While (sci]i= id
n UA A = 10 ;

digit = S(i)-'0'
-

num + = digit ;

i + = 1 ;

3
return num ;

I



int to string

in + x = 245
in + di

d = x % 10 = 15)
↳

x
=

x / 10 = 24

d =

x %10
= My

x
=

x / 10 = 2

d =x %1010
=/7

x = x / 10 =10

5 + 0 = 5 + 48 =

53

in + x = 245

int d d = x% 13 =


